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— JINP ANY PIP ST RNIAT 27 770 IPNR
Rav Hamnoonoh challenged it; did it state a funnel and a plate

OVERVIEW

noY 27 interpreted the Xn*92 (which reads 21 97°2 oK) 71120 K 191 HOIRY 7712
nRYM) to mean that 7°2 one may be 7712; with a »an NI one may not be M2 (he
is MOKR YAk TMwo), and with a 79221 7191 one is NXVA 27, However Rinnm 20
challenged this explanation, saying, *1np *1an 11p *7°1. There is a dispute between
mooIM *"w7 how to understand the challenge of &1 2.

= 2930P 19299 N9 2191 799D 81 NN 993 23NT 1OYVNPN YWD
>"w9 explained that X11»7 27 could have just as well asked, ‘does it state a
sieve and a sifter’.

mooin disagrees with *"'wAa:
= NN 29 2UNP INN PNYY 139D NV

And the >''1 has a difficulty with >"w"9, for if the challenge of X113277 27 is the way

"1 interprets it, so what is K127 39 answering by explaining the Xn™2 that it
depends whether he was n9109 1% 2218 9712 or 22 TN N0, the same question which he asks
on Ao 21 -

- 35350 NYDD TINN [99IXR] 210 YR M) 1YY

Applies also to X117 21, namely, does the Xn>>12 states oD TN 2IN?!

mMooIn has an additional question on *"wA5:
= 999913 1925) NDIAT 2IYNI NXINYT TN 1399107 29N N2IND 4090VPNH WD TINDA I

And additionally, >'"w9 shortly explains that when the X723 asked on *wX 27 (who
maintains that 9712 is 7w9) ‘but we learnt in a Xn>>92 that 972 is 3°97°; regarding
this Xn»73, *"wA explains that it is referencing this Xn>72 here (which states X1

Lo a2,

2 s"w is saying that in addition to (or instead of) asking does the Xn»"2 state "M 13p' (which A0 21 inserted), 27
X117 could have [also] asked does it state 717231 791 (which 7o 27 also inserted). According to >"w19 the challenge
of X137 27 was that 7o 11 is adding terms which the &n>12 did not state.

3 If s'x11m7 27 question on A0 21 was that he is inserting terms which the Xn*™12 does not state (as it appears from
*"w1d), so the same question applies to X117 27 that he too is inserting the concepts of n?109 TNk 251k and N0
90 7, which the X012 does not state (as ax indeed asks on X1 27).

4 x°anm a"7a2. The X ma there cites the view of *wX 27 that if he was 9712 from 792X *1°n "1 he is 7. The X3
asked, but we learnt in a Xn>12 that he is 2n. The '2»n X101, explains >"wA, refers to the X012 here of 2R M12° X7
NXLA 21 7702, The Xna reconciled that *wx 27 is discussing where he was *nn 1Ipa M2 therefore he is 928 o
MoK, while our Xn»12 is discussing 777221 1191, therefore he is kv 2.
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nROA 21 77°2). And the X3 answered that this Xn™92 is discussing a case where

he was 119223 71232 7712, however *WX 27 is discussing where he was »1man21 M3pa 7712, This

concludes the citation from the &3 and >"wA shortly. n19o1n asks -
- NP 1925) N9 719 SXIN NIYN 2PN

But how can the X% answer that the Xn*92 is where he was 7772221 77912 912,
does it state 77922 17212 in the xn>»12?!

moon offers his interpretation:
= 995D MNNM PIP 2792 7IWIND 251 599 MNNM PIPN RPITT PHN 199290 NN

And it is the view of the 5'"9 that X11117 27 was asking only from a3y 112 (not
from 777221 7191 as *"w1 maintains), and this is the explanation of yany 1P S8
np -

= SNV 299N D929 NN TN 7927 1993 2397 YVWIIDY HNIT 11D
Since the Xn»71 is interested in explaining the detailed laws of 7992 that if it

was done by hand it is 902 and if it is done 7792321 71212 he is NRWRT 2% -
$9ION DAN 91097 MHNNM PNIP MIVDN NINY Y NN NY

The Xn>72 should not have left out from teaching us a third case that by 1p
syam he is TIOK D2 e,

SUMMARY

“INP A NIP 7 means according to "W that Ao’ 27 is inserting new concepts
into the Xn>73, while according to the *"7 the question is that the Xn»92 should
have been more explicit regarding 7108 228 w9 (by “1am 111p).

THINKING IT OVER
1. m501n maintains that there is no problem with inserting new concepts (like 7792

5> The 9"wnn amends this to read »277 (instead of 7).

¢ We have discounted the answer of 7o 27 that the Xn»92 rules 211 by a 77221 1193, because of s's1137 21 challenge,
°INP 717201 1791 °7°n, so how can the X723 later establish the Xn»92 by 77231 7791 contrary to our conclusion here. These
questions are according to *"w1 who understands 8113177 27 to mean that we cannot insert new concepts in the Xn»n2
(whether 1M 111p or 77231 1191), which the Xn»12 does not state.

7 According to the ", X117 27 was not bothered how 701 21 inserted new concepts (121 113p) into the Xn*>13, for this
is a common practice. Therefore X177 27 was able to insert his concepts of 2109 TINn 92X, It is also understood
why the X3 later can establish our Xn™12 (of nXvr 2°n) by 77221 191 for that never bothered X11n7 27. See
“Thinking it over’ # 1.

8 The ®n>>m2 states 'NRVA 27 772 ORI 1M2° X2 1D 921 9712 "1 v The ’n>>"2 apparently is teaching us two laws,
one where he is 9\ (which we interpret 7°2) and one where he is 2»1 (by 77221 1151). However no1 27 added (that
the word 112> X9 is) a third case where the rule is 70K 9ar Mwa (by »many 111p); if this is true, asks X117 17, the
Xn>12 should have clearly stated a third case of 70X 228 M (by M 1p), which it does not. See ‘Thinking it
over’ #2 & 3.
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720y, ete.)’ and offers a different explanation of s'8111n77 271 question.!® However,
»aK challenges X117 27 and asks *1np 2109 7Nk 92X >7n, indicating that there is
an issue with inserting new concepts, which the X012 did not mention,'! so the
question remains on 777231 791 as well, so how can the X3 explain that the Xn»92
is by 77201 79312112

2. If X117 21 was bothered how can 701 27 insert a third case in the ¥n»92 (which
it does not seem to indicate);'* why did not X111m77 27 establish the X012 in only
two case; if he is 7°2 72 he is Mo and if he is 77231 791 7 M2 he is 2702114

3. According to the *"7 (or *"w1), how did &1111%77 27 understand s'n01° 27 explanation
of the Xn>13; is the &n>72 including three cases (and the words 71172 X7 refers to
"1 NI which are MOR HaR 7wo), or is the Xn12a discussing only two cases (N0
and nXwvn 2°°17) and M2’ RY is by 77201 1191; however 701 21 is adding a third case of
"mam Map (which the xn>a [perhaps] should have included)?'

? See footnote # 7.

10 See footnote # 8.

' This also seems to undermine the view of the >3, that new concepts may be inserted.
12 See o"n.

13 See footnote # 8.

14 See w"R77 Moo,

15 See mana K.
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